Q1 Which one of the following properties of
cement concrete is ascertained by conducting
compaction factor test?
(a) Bulk density

(b) Compressive strength
(c) Modulus of rupture
(d) Workability
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ich of the statements given above is/are correct?

a) 1,2 and 3 only (b) 1 and 3 only
(c) 2 only (d) 3 only

Qb6 Consider the following statements:
Modulus of elasticity of concrete is

1. tangent modulus

2. secant modulus



3. proportional to Vf«

4. proportional to 1 / vf
Which of the statements given above are correct?
(a) 1 and 3 only (b) 1 and 4 only
(c) 2 and 3 only (d) 2 and 4 only

Q7 Which one of the following is employed to
determine strength of har. d existing concrete
structure? R

(a) Bullet test
(b) Kelly ball test \ &/
(c) Rebound. hammer test
(d) Cone penetrometer
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(c)fe=fx+S
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(b)2and 3
(d)1and3

Consider the following statements:

Rise in temperature does not cause any
change in the colour of cement concrete
Curing minimizes the shrinkage of cement
concrete when it sets.

Which of the statements given above is/are correct?
(a) 1 only

(b) 2 only

(c) Both1and 2



(d) Neither 1 nor 2

Qll What is the percentage of the fine
aggregate of fineness modulus 2.6 to be combined
with coarse aggregate of fineness modulus 6.8 for
obtaining combined aggregate of fineness modulus
5.4?

(a) 30%
(b) 40%
(c) 50%
(d) 60%
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" Q14 The workability of concrete can be
increased by which of the following?

1. Increasing the quantity of coarse aggregate
without altering the total aggregate
quantity.



2. Decreasing the quantity of coarse aggregate
and at the same time correspondingly
increasing the quantity of fine aggregate

3. Using round aggregate

Select the correct answer using the code given
below

(a) 1 and 3 only (b) 1 and 2 only
(c) 2 and 3 only d) 1.2 and 3
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tors comprise maturity of

pressive strength and flexural strength

concrete

Cement content per cubic metre and

compressive strength of concrete

Curing age and curing temperature of

concrete

(d) Age and aggregate content per cubic metre
of concrete

Q18 What is the minimum value of individual
test results (in NImm2) for compressive strength



compliance requirement for concrete M20 as per
codal provision?

(a) fck-].
(b) fa-3
(C) fck -4
(d) fu-5
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(a) Co

(c) Split test
(d) Tension
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